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I (a) (r)

(2 ) 74e6

Consider the goods market equilibrium condition in

a closed economy, S + TA - TR = I + C. ( Notations

have their standard meanings). Use this equation to

explain why, in the classical case a fiscal expansion

must lead to full crowding out. Explain using the same

equation,.what happens to the economy when there

is less than full employment. (ln both cases assume

thal thers is no monetary accommodation).

Discuss the role of the parameters l, (interest

sensitivity of money demand). 6 (interest sensitivity

of investment), /r (income sensitivity of mbney

demand) in the transmission mechanism, linking an

increase in governinent spending to the resulting

change in income, using the expression of the fiscai

policy multiplier in the IS-LM model. 3+4%

Consider two altemative contractionary economic

policies. One is the removal of an investment

subsidy : the other is a rise in income tax rates. Use

the normal [S-LM schedules to discuss the impact

ofthese alternative policies on incomo, interest rates

and investm€nt.

(6)

G)

( ls ) 7496

3fif€ff<( qM qTfi (uncovered interesi parity) th1

vrd q cnrl{ t fdM Esr fr1 vd{rfrK {€-fd
(appreciation) ai q< tRt Eq qrgrqS fm' 5il q1

sr1Fd d 3{crqrRrd gk + vftvnrew frt{Tq <t

srci {dfldr qrzfltrtcfl K{ fr} m (overshoot) d
fi srfr tr
(, {ftq fr qrgr{s f6 fqffi frfiqq +fuq +

qftomssq frq n-dFI{ tfriq (hedging)a rr@r$

(specutation) 4 er+g< Etrq At tl
1,p rft orttcam a qna ii qfi{+- qrq qi *qs: rx

s 6% t nl glr6rfta E q $t<Rcvtl

EIT$l (Covered Interest Arbitrage Margin,

crAM) {kr on-c\ r qr< .krrlFl qtqR q <{

(spot rate) Re. t/st itstT qq. e$a qrqe qrqR d

(t (forward rate) Rs. 0.96lsl t d crau * fqe q

finiq qn di qriFTEidr qqsr{q r (qrr-d : T6

irr, oTiR-+r : fqt{)

(ii)

(b) (,
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s. (a)

(b)

(c)

(a)

( 14 ) 7496

(i) Explain the difference berween absolute and

relative PPP. Discuss why relarive ppp tends to

- predict undervalued exchange rate for developing

countries.

(il) Discuss the J curve. 4+3%

Assuming uncovered interest parity condition and expected

appreciation offoreign currency to be zero initially, explain

why the exchange rate o:vershoots its long run equilibrium

in response to an unexpected increase in domestic money

supply. 7%

(r) Briefly explain how foreign exchange risk leads to an

opponunity of hedging and speculation.

(i0 Find the Covered lnterest Arbitrage Margin (CIAM)

when the annual rate of interest in the US and

India are 8o/o and 60/o respectively. The spot

rate is Re. l/$l and the one year forward rate is

Rs. 0.96i $1. Explain the relevance of the sign and

the absolute value of CIAM. (lndia : home country,

US : foreign country) 4+3Y,

(, firtQer q gttq ppp * qq €i-d{ Bl qr{rSq r

sriq PPP d fusrs{trd tS tE oq {e qd
(undervatued) frFrri{ <t Tffid sIi +1 9-{t{

ufr t"fr t, E+ror Rqr eifqqr

(,0 r ?ri6' iF-r fril+q slfqqr

t,

(3) 74e6

. (rr) Distinguish between stricr quantity theory of money

and monetarism. What type of statistical evidence

would you need to collect in order to suppon or refute

the major argument ofmonetarism. 4+3%

(c) Suppose the government undertakes a balanced budget

increase in spending. Covemment spending rises from G

to G', and there is an accompanying increase in tax rates

so that at the initial level df output the budget remains

balanced.

(, Show the effect on the AD schedule.

(rr) Discuss the effect ofthe balanced budget policy on

output and prices in the Keynesian case.

( l) Discuss the effect on output and prices in the

classical case.

(rv) Answer pan (i) Ivhen there is only an increase.in the

tax rate with unchanged C. Z+2+2+l/,

(a) (D qs, q< sr+q{{qr d eq q,ilR d sEt-qrTEr

(equilibrium) th1 YId, S + TA - TR = r + C qt t{qft
stfuqt W q*q-{ur q1 sErrdr t sc$r{S fu
wrk*iq +q d{rs+1+q rsrq +yfunqgsq

P.T.O.
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(,r)

(b) (0

(4) 74e6

frkqa sq t {:i *rsE r 3nsc Afi | {S R+*lq
q1 wrq-or t qt *fr cq-{Eq t6 qq tq.m

o.r R{ 1,i IG,"TR t m-q B-ar t (q or+qE+qr

rR flr eqFr qw t, t{-.ii El qrq€l t qrt

dfq\ tu +k*, +fd t eti e-6rq6 qk{dr

(accommodation) rfi trqr qnr tr)

rs-lv rfso i w-+l$q ffi yp5 + ais6.

ql ver+m I slert qq t Ck qi Es+

qftvrtqqsc sm d dli qdt Ek t ffi srel

{q{ul yulltfr (transmission mechanism) q yrqait

i (Tfl s1 qY,r o1 qm * cR {ifi{fl-d-drl,

a (frivr o1 qre d vfr riffieil) s t
(5-qT ql ,fu +1 enq * vfr {ffi'eml q1

Ttrsr ol tq*qq qTqqr

n Me-6 liryr6fi (contractionary) eITFf.F

frtarii qr fq-qn o1frqr w t ftiu erJ{r

q-r Earzil qr;rl dsn qsfr t qr.r"F'{ q1 d' q

Ek r <rrr< Is-r-rra q*1+1 vtrcf,r t fl ffis6
+ftrq] + cftqrqssc arq, qrq <fr q ftfut

q{ cai qrd vqrs} fl Rqr 61fdqr

( 13 ) 7496

sr-zT 3 =I di tr eo-as n-q q} Troqat t
qr+r{s i+. n {qer( t+.s ror +qo: d
(automatically) Ee a (s.-fr tl

(io qs vfm'qr o1 qr oq1 t ?

tiio qd qrqR it eq{*I-rr* luonds) et qfr< *-t

{g Ecra-s{ Yfx-qr w wt Y+nq q.tn ?

(r) 'tS 
"1 

W rftNi-efl * srq frq{ tdt{Tq << vundl

1ftq1 +ffi c"{) * erdrld q6'{IE TqI q1 3nfd

qt fr{qq d tdr t, etr vs r+n *ko ffi t-fi<

d ck<trn oli d pia: erelttfr fr ffi t o.< r*
ftqfr t rrs+}+q ffi Tof,a, vqr* tfr t t' qt sts

yssrdtrcqat I {Fr{r{ql

(c) (,) ffi{qq E{ rltmq 6 ltrtr+- FE-sTsr:n erlvn

t*-s s-s.R frffi g<r 6h1 qrXH ml ge-r d

qtq. EEr +1 3fl[fd fqftqq q{ q1 frqtR-d

o.l-frt ?

ria. frkr Effir * erlvn ftq{ frfrrrq E{ sund

6- srf,rrd gq-ffi F<JOi q qrgl rS-q rSR Ttrr

d-ort I

P.T.O.
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(12) i4%

(r'l). What is the shoncoming of this process ?

(rrr) What is the impact of an open market purchase of

bonds on the adjustment process ? 4+l%+2

(6) 'A nation loses control over money supply under

fixed exchange rate regime with perl'ect capital mobility

(at constant prices), thus making monetary policy

completely ineffective in changing output. However.

fiscal policy is fully effective in this case'. Do you agree ?

Explain. 't.5

(c) (, How does domestic money supply vis-a-vis the foreign

money supply determine the exchange rate in the

monetary approach to exchange rate determination ?

(il) How does a BOP deficit arise according to the

Monetary Approach under a fixed exchange rate

regime ? 4%+3

(a) (0 fteR frfrqq ({, e-+A +aq qtqf, Rr nqr

fuT fqffi qtqn kr qTel c-*, 3r+attr+er q{

fr-qn olfuqr q'rt d&\ flo etfqc+qr ynrsr

d Xul +q,tn q Eqrq( v{d{ o1 gra{qr ii 6r
c(< FIfiil q FRFre t6 s'nq tirornn q qrqr<

(5) '74<X

l,

GJ

0D 5fl + €Gf qfrqfq fu&ffl lstrict quantity rheory

of money) 4 tlifiEdlEffi (monerarisrn; * E?21 3161

H€ 6ifqq I dft*-o-fi * vgq. ild fi sl{+{
qT so-$r fu eTc fs's y-qn s.r qifuq-+tq qqM

q-+-1 ati ?

qn qltqC flo qc+Tr eqz qi v{fud rot gq qq
d gk (balanced budger increase in spendingl S{fr |t
scorfr qq c t q6qr{ c,A qrdr t aqr vc$ qlq

e-{ o.i Eti d qi cq nffi gk d qrfr t tq{ri
s-flK + srifurfi Kr q{ {qc s{fud €dr tl
(, AD zrfi 1r{ eqrs *i <fliFq I

(rr) Affiq qrqd t v<ftn e-sc ffi * qftonq-e-sq

EflR q qtqiii c{ T.si srfr eqrs s.r mfi
oiFqq r

(,,, 3-ilE q ffi q{ wrffiq qTd q rgi qra

gqlrt r51 fu+q1 ai60,

(iv) qR *+o s-{ 61 Er q gfq a flqT c aTrrft-sftfd

G fr qrq (D sr t.f,{ dfuqt

Assume thal the economy starts at the natural level

of output and lhere is a decline in government

expenditure.

I

2.

I

(,1)

P.T.O.
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(,

(rr.

(b) 0)

(i0

(c) (r)

(a) qH dtqs fo erelqq{ql sflE + s-ffo-o <r< t
{sqm s'{fi t aQ{r swrt qq t Fnrqz t& t,
(, AD - AS s ts - LM tqf+, ql soq-or I <fltgs

f* e5*ro q qta.Frfl d ssrs, o1{d Rt'

qrq (t s fTa{r q{ Ffl nrlrs qqdT t ?

(6) 74x

Using the AD - AS and lS ' LM diagram' sh6w whar.

happens to output, price level, interest rate and

investment in the short run and medium run.

Whal happens ro the unemployment rate in the shon

run and in the medium run ? 6+lY,

How does an individual get rid of the 'signal

extraction' problem ? What is the effect of this

problem on the labor suPPlY curve ?

What are the propenies of rational expectations ?

3t/z+4

Under what circumstances, according to the Keynesian

IS-LM model. changes in goYermenl expenditure

would not be necessary to offset fluctuations in

private spending. Why, according to the Keynesians,

this is an unlikelY scenario ?

Explain why the model inconsistency problem exists

in adaptive exPectations. 4+3%

( ll ) 7496

' (,) {g 3#'qir{qr fu em ergvn (sacrifice ratio)

flrt ?

qn diqs f+, ilEn0 el$q i orq{ Yr5fu*'

<{ q{ t nq n = 127". *:fri {6 fidq q,'rdl

t f+' tz"z" s;1fr <{ q'r$t qFr6 t nqr ed

rt ${,.I q.r* q€ +M 61 < +1 rq nq'

ss+t el-f.td-{, <t t qq std$d fu'€ s,w rdrrr'

qs (s. fs ft1ft <{ s-q A-6-{ 2% q{ Td qI

qrfr r

(iD sfr t. t+1. t+2?g sifr O a1 qq-a +1fur

(i,D **q +*, 61 +M 61 <{ ql ffi sfr

nq' 3ss1 srf.frs <{ fr 3;q{ {qrl q-errl r

Hr Tsq fiRn erq 3i-{crd qmoC arc+ Itr{
* erSsv t ?

(,") qR **q *-o qd q'ftqrq qd t qrq s-r+r

qrt d qrq si er ver6 ti ?

4. (a) (t) Consider an economy characterised by fixed exchange

rate, flexible domestic price level and fixed foreign

price level. suppose rhe economy was initially at full

employment and trade balance. However, a fall in

exports resulted in unemployment and trade delicit'

Using the AD-AS framework explain how tie

problems can be overcome automatically'

(

(ii)

P.T.O.

I
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( fo ) 74s6

(,i) qR Eq qrtt E i*. +M s1 E{ i.errA
en qd il A yfdfld td<"it s1 tRr*e A A
sffiE q1 frq attr-+- qfd <{ 41 eflzrvq+,irr

t).ft z

tii, qrq dlqq t*' t{r d qel * qq I qru roro
(second baby boom) 3IIflT tr qR afq yfffi s1

gk <t C a yFr{Td fe-€un s1 Sfd A-fr t
6 qq 3f+-t * i{qq t qr.cMl slqlsrd

q-li t ? ETgr{qt

(b) qrq dfqs t+' frlow {S t{q sE.R t :

n, = tl + 0.1 -2u, SEt' n," = On, ,. cff elfuq B. 0

mT crt v1q tr qn o}fuq t+' ti-q.rR1 q1 <r sR rr

f slq+ qr5fd-+- < * c<rq( tr qdrt crfirfir0

+ftqqret q'i < e] o-q q-r* :z w ert q sQ rivr
* foS Es q q{ rrsi Er fTstq q-<i t :

({) +M 6i er5lilfi .. flr t ?

(,0 sfr t, ftt. t+2 t 81fr o1 s{ nrd 61fqql

(irD :f.tt 0 = o qi qr;zrfrr 6-d*,I-d t ? aq{r{q I

o = l tg fr gs c{r or srr diqqr

(c) Cri tflfqs fs' fufew zrfr' 7r, - 1ri = tu, - beo)

t nqr s-f,rftrd s1fr s{ El =r,r.

(7) 74%

' 
1r'i; tlqqr0 q1 < qt dgsrf, s qtqora d qr

rwe rqar t i
(h) (r) 66 ]-aqsf'uf E-1 qqgf (signat extraction

probtefl t f*-q ,-m'R er6.Rr crcr qrdr t ?

{s rrreil *l xr ffi qlr q{ aFIr yqn tfl
tz

1i4 n-drirm y-gRn3il (rationat expectations; * q1

tqqd t z

14 (, fr$q 15-1y Erfs6 + qun fc;l cftftqftrd

d FrS qq d wn-qerq d yqrs d fTr<
(ofrseg qTi ?g qrofi qq I gk qrqw*'

r-6 &fr ? +=fq qffi + sr{sR q6

qs sr*rnrrq ftqfr eii t I
(lD TrsIfir$q fo Wgqen{fi-O l-.qrflr$ laaaptive

expectations) d rfgd eT${+rn-dl (model inconsis-

rency) +1 qqsl er erke fl] Etdr t ?

(o) Suppose the Okun's law for country X is given by :

u,- u,, - 4.4Gt, - 3Vo)

(, What go\rth rate of output leads to an increase in

the unemployment rate df I percentage point per

year ? How can the unemployment rate increase even

though the growth rate of output is positive ?

P.T.O.
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(8) 74e6

(ir) What yearly rate of growth of output do we need

if we want to decrease unemployment by two

percentage points over the next four years ?

(iii) Suppose that the country experiences a second baby

boom. How do you expect Okun's law to change if

the rate of growth of the labor force increases by

two percentage points ? Explain. y2th+2

(b) Suppose the Phillips curve is given byn, = Tt" + 0.1-zut

' where ,i = h,,. Assume o is equal to zero. Suppose

that the rate ofunemployment is initially equal to the natural

rate. ln year , the authorities decide to bring the unem-

ploymeni rate down to 3% and hold it forever.

(r) What is the natural rate of unemployment ?

(r) Determine the rate of inflation in yea.s t, t+1, t+2.

(iii) ts the assumption 0 : 0 justified ? Explain Answer

the same for O - l. 2ltr2',2-2't

(c) Suppose that the Phillips curve is given by

'r, .- T," = - (u, - 1Vo) and the expected inl'lation is

given by n,' = r, ,.

(r) Whal is the sacrifice ratio of the economy ?

Suppose that unemployment is initially equal to the

natural rate and' n = l2o/o. The central bank decides

I

(9) 74%

that l27o inflation is too high and that starting in

year l, it will maintain the unemployment rate one

percentage point above the natural rate of unemploy-

ment untii the inflation rate is decreased to 29lo.

Compute the rat6 of inflation for years ,, 1+1, t+2.

For how many years must the central bank keep

the unemployment rate above the natural rate of

unemployment ? Is the implied sacrifice ratio consist-

ent with your answer to (i).

What advice should you give.to a central bank if

it wants to achieve the same results quickly ?

l+3+2+l%

eltqs f+, iu x tE ot+.q 6l i{qq frE{ v-+.R

,- u,t= 4.a@,, - 3%)

EflR q1 td's qk (r * Afu.Ilt q1({ i
vftrq{ r sFdvrd tq-€uil 6i gte Sfr z EfltE

*1 Ek <f $ q-trq6 mi * qq-q< ni-wnt

*i <{ i$-s F6R e-6 vs-fr t ?

P.T.O.

(a)

(,,

(ir,)

(rv)

TII;I
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